ECE  2504 Homework Set #2

Introduction to Computer Engineering

Due date: 2/1/08 at 5 PM
This assignment is to be done individually

Complete the following problems. Show all work. 

1. Decode the following 7-bit ASCII codes:

1010010 1000101 1001101 1000101 1001101 1000010 1000101 1010010 0100000

1010100 1001000 1000101 0100000 1000001 1001100 1001101 1001111 0101110

2. Find the decimal equivalent of the following two’s complement numbers: 1110101, 1000000, 01011011, 100000000, 111111111, 10111000

3. Perform the addition of the following 8-bit two’s complement numbers and show the decimal result. Show all work. 
11101101 + 01001010;  01001001 + 00101001;  01110010 + 11110010; 
11101110 + 11111110


4. Perform the subtraction of the following numbers represented in two’s complement form and show the decimal result:
01100100-01101101; 11101001-10001111; 11000000-11000000; 11101111-10000000;

1000001-00000011

5. Find the smallest negative value expressed in 2’s complement form that when added to itself, the sum causes an overflow to occur. For this problem, smallest negative number means a negative value closest to zero.


6. Problems: 3-14, 3-15, 3-19
7. Convert the decimal value 328.071875 to a 32-bit floating point number in IEEE standard format. 

8. Convert  AD46B000H, which is in the 32-bit floating point number in IEEE standard format, to a decimal value. 

